(g 1) s (532, 40l 3L i

Comd i die Oygo

ETZE-——+ max

Ar =a
Bx >b
Dx <d
b<z<lu

1 1T 1 1 1110

50—3010'15

(41a)-(

Ak Sy okl b sla o pile

oS o (il dinto |y Aline ol 5 35 SeS & s

function LpExa2

A=[1,1,1,1,1,1;5,0,-3,0,1,0]; a=[10,15]"';
B1l=[1,2,3,0,0,0; 0,1,2,3,0,0;0,0,1,2,3,0;0,0,0,1,2,3];
bl=[5,7,8,8] ;bl=bl(:);

p=[3,0,0,0,-2,1;0,4,0,-2,0,3]; d=[5,7]1; d=d(:);
l1b=[-2,0,-1,-1,-5,1]"'; ub=[7,2,2,3,4,10]"';
c=[1,-2,3,-4,5,-6];c=c(:);

B=[-B1;D]; b=[-bl;d];

[xso0l,fval ,exitflag,output]=linprog(c,A,a,B,b,1b,ub)
fprintf('%s %s \n', 'Algorithm Used: ', output.algorithm) ;
disp (' ")




disp('Press Enter to continue'); pause
options=optimset('linprog') ;
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options =

optimset (options, 'LargeScale', 'off', 'Simplex','on', 'Display’,’
iter');

[xsol,fval ,exitflag]=1linprog(c,A,a,B,b,1b,ub,[],options)
fprintf('%s %s \n', 'Algorithm Used: ', output.algorithm);
fprintf('%$s’ ,’ Reason for termination:')

if (exitflagqg)

fprintf('%s \n’,’ Convergence.');

else

@
fprintf('%s \n’,’ No convergence.'); \\
end LW
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Optimization terminated.

exitflag =



output =

iterations: 4
algorithm: 'large-scale: interior point'
cgiterations: 0
message: 'Optimization terminated.'
constrviolation: 5.3291e-015
firstorderopt: 2.2346e-014

Algorithm Used: large-scale: interior point

Press Enter to continue
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12.7692
-0

Phase 2: Minimize using simplex.

Iter Objective Dual Infeasibility
f*x A'*y+z-w-f
0 -9.28199 0

Optimization terminated.




xsol =

2.3304
1.9702
-0.4236
1.9590
1.5019
1.0124

fval =

-9.2820

exitflag =

““largesscalé interior point
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